
ArbeitsblattArbeitsblatt
kgV und ggTkgV und ggT

  

ggT(24;21;30) =ggT(24;21;30) =  ggT(35;25;30) =ggT(35;25;30) =  

  

kgV(28;16;16) =kgV(28;16;16) =  kgV(72;27;18) =kgV(72;27;18) =  

  

ggT(80;10;100) =ggT(80;10;100) =  kgV(4;3;6) =kgV(4;3;6) =  

  

kgV(16;6;18) =kgV(16;6;18) =  ggT(40;40;50) =ggT(40;40;50) =  

  

ggT(72;45;18) =ggT(72;45;18) =  kgV(6;54;54) =kgV(6;54;54) =  

  

kgV(72;90;90) =kgV(72;90;90) =  ggT(40;8;28) =ggT(40;8;28) =  

  

kgV(54;18;54) =kgV(54;18;54) =  ggT(80;10;40) =ggT(80;10;40) =  

  

kgV(27;90;36) =kgV(27;90;36) =  kgV(9;5;10) =kgV(9;5;10) =  

  

ggT(54;30;30) =ggT(54;30;30) =  ggT(18;16;6) =ggT(18;16;6) =  

  

ggT(27;15;18) =ggT(27;15;18) =  ggT(10;8;4) =ggT(10;8;4) =  
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ArbeitsblattArbeitsblatt
kgV und ggTkgV und ggT

  

ggT(24;21;30) =ggT(24;21;30) = 33 ggT(35;25;30) =ggT(35;25;30) = 55

  

kgV(28;16;16) =kgV(28;16;16) = 112112 kgV(72;27;18) =kgV(72;27;18) = 216216

  

ggT(80;10;100) =ggT(80;10;100) = 1010 kgV(4;3;6) =kgV(4;3;6) = 1212

  

kgV(16;6;18) =kgV(16;6;18) = 144144 ggT(40;40;50) =ggT(40;40;50) = 1010

  

ggT(72;45;18) =ggT(72;45;18) = 99 kgV(6;54;54) =kgV(6;54;54) = 5454

  

kgV(72;90;90) =kgV(72;90;90) = 360360 ggT(40;8;28) =ggT(40;8;28) = 44

  

kgV(54;18;54) =kgV(54;18;54) = 5454 ggT(80;10;40) =ggT(80;10;40) = 1010

  

kgV(27;90;36) =kgV(27;90;36) = 540540 kgV(9;5;10) =kgV(9;5;10) = 9090

  

ggT(54;30;30) =ggT(54;30;30) = 66 ggT(18;16;6) =ggT(18;16;6) = 22

  

ggT(27;15;18) =ggT(27;15;18) = 33 ggT(10;8;4) =ggT(10;8;4) = 22
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